PR = B0 B R S5 5 B B 3 il

1. EFER
— KRB, BSL%ERRSES 5286, 89, 78, 93, 90. NiX54 %4 B4% 134 Fi
HAL L B R ( )

A.87.2, 89B. 89, 89 C.87.2, 78 D.90, 93

2. P
ZEHHE: 7. 9. 11, 8 7. 11, 12, 10, 9, 8. 13, 15, 9k ER ()
A.9B.6C.7D.8

3. B
HFEx2—2x— =0 HRE ()
A BWRANAELER B. BH/MNMEELER C. BLEBUR D. Bk

4. BB

1
mEl, ASA, BSBIExH. y#i E (OA>0B) , DABNEAZKEZTEFEAS0, CRAEK ]
B, EZAC, BC. TH4i: OWAC=BC; @FHO0A=4, OB=2, | NABCHIHEMETS; @F
OA - OB=4, M| ECHIMIrRE (2, -2) HAERKERE ()

A. 3/ B. 24 C. 14> Do

5. BB
FHER 5 AR —a0 2 #82x2 - x=1=00, EC5 IEFRIR ( )
1 g

1 g 1 5 1
A (x-%) 2516 B, (x+4).2=16 ¢/ (x-2) 2=t D. (x+2) 2=

5
7

6. JEHE
HFZHINOE BRI, SFE4RMSRINEFE KRR TR, BERE T 1270E 85 R FEN
a%JFEM TREIE ST, THIRFIFRERERKEZ (O

A. 12 (1+a%) 2=5B. 12 (1-a%) 2=5

C.12 (1-2a%) =5D. 12 (1+2a%) =5

7.
— LK Fax2+bx+c=04, #Fa>0, b<0, c<0, MXMNFEBEERE O
A. BHAER B. HHA IR

C. F—ER—AMAERLIHE K D. H—1EH— R B AR gsHE K

8. EHEH
THHRES, R—TEZIRFERRE O

1
A. x+3=0 B. x2-3y=0 C. (x+3)(x-3)=1 D. x-*=0



